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Contractors that will construct a project may place
more weight on the planning process. Proper
planning forces detailed thinking about the project.
It allows the project manager (or team) to “build
the project in his or her head.” The project manager
(or team) can consider different methodologies
thereby deciding what works best or what does not
work at all. This detailed thinking may be the only
way to discover restrictions or risks that were not
addressed in the estimating process. It would be far
better to discover in the planning phase that a
particular technology or material will not work than
in the execution process. The goal of the planning
process for the contractor is to produce a workable
scheme that uses the resources efficiently within the
allowable time and given budget. A well-developed
plan does not guarantee that the executing process
will proceed flawlessly or that the project will even
succeed in meeting its objectives. It does, however,

greatly improve its chances.

* execute: AT}

Official definitions of sport have important
implications. When a definition emphasizes rules,
competition, and high performance, many people
will be excluded from participation or avoid other
physical activities that are defined as ‘“second
class.” For example, when a 12-year-old is cut from
an exclusive club soccer team, she may not want to
play in the local league because she sees it as
“recreational activity” rather than a real sport. This
can create a situation in which most people are
physically inactive at the same time that a small
number of people perform at relatively high levels
for large numbers of fans—a situation that
negatively impacts health and increases health-care
costs in a society or community. When sport is
defined to include a wide range of physical
activities that are played for pleasure and integrated
into local expressions of social life, physical activity
rates will be high and overall health benefits are

® A2 57 ARE 7asshE A9 AY S0}

uﬂ—ﬂ-xh:]-
@ SH4AQ ot gu: o] AAF AW
o]},

© A9 ASle FHe 4Gl vt f2o0 99

© YT AY £UL Aol BEHES AL HE
54 Bt

® e AQNAE %4 HAe BER
A% Agle] Fastet.

likely.

N Qb px
>
1o
N
ot
flo
oM,
N
Y

)
ft
i)Y

N

@ @ ©06
%0 > mtl o Mo
L b oxt of

LA

® %}HPOP o7} 52 duket tigl #A 549
E3o] Hrt

orbi.kr 11



03 223t 45 231

Os 29 FHZ 7+ HAEsh A=2?

—

04 21814 45 234
7

Cig 2ol FH2 K MEs A

Scientists use paradigms rather than believing
them. The use of a paradigm in research typically
addresses related problems by employing shared
concepts, symbolic expressions, experimental and
mathematical tools and procedures, and even some
of the same theoretical statements. Scientists need
only understand sow to use these various elements
in ways that others would accept. These elements of
shared practice thus need not presuppose any
comparable unity in scientists’beliefs about what
they are doing when they use them. Indeed, one
role of a paradigm is to enable scientists to work
successfully without having to provide a detailed
account of what they are doing or what they believe
about it. Thomas Kuhn noted that scientists “can
agree in their identification of a paradigm without
agreeing on, or even attempting to produce, a full
interpretation or rationalization of it. Lack of a
standard interpretation or of an agreed reduction to
rules will not prevent a paradigm from guiding

research.”

(@ difficulty in drawing novel theories from existing
paradigms

@ significant influence of personal beliefs in scientific
fields

® key factors that promote the rise of innovative
paradigms

@ roles of a paradigm in grouping like-minded
researchers

® functional aspects of a paradigm in scientific
research

12 7189 mEEat Jo| EXTENSION

Difficulties arise when we do not think of people
and machines as collaborative systems, but assign
whatever tasks can be automated to the machines
and leave the rest to people. This ends up requiring
people to behave in machine-like fashion, in ways
that differ from human capabilities. We expect
people to monitor machines, which means keeping
alert for long periods, something we are bad at. We
require people to do repeated operations with the
extreme precision and accuracy required by machines,
again something we are not good at. When we
divide up the machine and human components of a
task in this way, we fail to take advantage of
human strengths and capabilities but instead rely
upon areas where we are genetically, biologically

unsuited. Yet, when people fail, they are blamed.

(@ difficulties of overcoming human weaknesses to
avoid failure

@ benefits of allowing machines and humans to work
together

@ issues of allocating unfit tasks to humans in
automated systems

@ reasons why humans continue to pursue machine
automation

® influences of human actions on a machine’s

performance
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Mending and restoring objects often require even
more creativity than original production. The
preindustrial blacksmith made things to order for
people in his immediate community; customizing
the product, modifying or transforming it according
to the user, was routine. Customers would bring
things back if something went wrong; repair was
thus an extension of fabrication. With industrialization
and eventually with mass production, making things
became the province of machine tenders with
limited knowledge. But repair continued to require
a larger grasp of design and materials, an
understanding of the whole and a comprehension of
the designer’s intentions. “Manufacturers all work
by machinery or by vast subdivision of labour and
not, so to speak, by hand,” an 1896 Manual of
Mending and Repairing explained. “But all
repairing must be done by hand. We can make
every detail of a watch or of a gun by machinery,
but the machine cannot mend it when broken, much

less a clock or a pistol!”

@ Still Left to the Modern Blacksmith: The Art of
Repair

@ A Historical Survey of How Repairing Skills
Evolved

® How to Be a Creative Repairperson: Tips and Ideas

@ A Process of Repair: Create, Modify, Transform!

(® Can Industrialization Mend Our Broken Past?

People don’t usually think of touch as a temporal
phenomenon, but it is every bit as time-based as it
is spatial. You can carry out an experiment to see
for yourself. Ask a friend to cup his hand, palm
face up, and close his eyes. Place a small ordinary
object in his palm — a ring, an eraser, anything
will do — and ask him to identify it without
moving any part of his hand. He won’t have a clue
other than weight and maybe overall size. Then tell
him to keep his eyes closed and move his fingers
over the object. He’ll most likely identify it at once.
By allowing the fingers to move, you’ve added time
to the sensory perception of touch. There’s a direct
analogy between the fovea at the center of your
retina and your fingertips, both of which have high
acuity. Your ability to make complex use of touch,
such as buttoning your shirt or unlocking your front
door in the dark, depends on continuous time-varying
patterns of touch sensation.

* analogy: SAF ** fovea: (LQ|) FSAA(H)

*%% retina: 4Qf

@ Touch and Movement: Two Major Elements of
Humanity

@ Time Does Matter: A Hidden Essence of Touch

® How to Use the Five Senses in a Timely Manner

@ The Role of Touch in Forming the Concept of
Time

(® The Surprising Function of Touch as a Booster of
Knowledge

orbi.kr 13
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A strategic vision has little value to the organization
unless it’s effectively communicated down the line to
lower-level managers and employees. It would be
difficult for a vision statement to provide direction to
decision makers and energize employees toward
achieving long-term strategic intent unless they know
of the

commitment to that vision. Communicating the

vision and observe management’s
vision to organization members nearly always
means putting “where we are going and why” in
writing, distributing the statement organizationwide, and
having executives personally explain the vision and
its justification to as many people as possible.
Ideally, executives should present their vision for
the company in a manner that reaches out and grabs
people’s attention. An engaging and convincing
strategic vision has enormous motivational value —
for the same reason that a stone mason is inspired

by building a great cathedral for the ages.

* stone mason: A& ** cathedral: CHAY

Unlike the novel, short story, or play, film is not
handy to study; it cannot be effectively frozen on
the printed page. The novel and short story are
relatively easy to study because they are written to
be read. The stage play is slightly more difficult to
study because it is written to be performed. But
plays are printed, and because they rely heavily on
the spoken word, imaginative readers can create at
least a pale imitation of the experience they might
have watching a performance on stage. This cannot
be said of the screenplay, for a film depends greatly
on visual and other nonverbal elements that are not
easily expressed in writing. The screenplay requires
so much filling in by our imagination that we
cannot really approximate the experience of a film
by reading a screenplay, and reading a screenplay is
worthwhile only if we have already seen the film.

Thus, most screenplays

(@ rely more on the spoken word than stage plays

@ attract a much wider readership than short stories
(D What Makes a Strategic Vision Successful?

@ Why Is Creating a Vision Statement Difficult? @ are popular though it requires extra effort to study
® Building a Future: Innovative Leadership Training them

® do share many elements with other literary genres

@ Effective Decision-Making Processes in ® are published not to be read but rather to be

Organizations remembered

(® Motivating
Development

Employees through  Organizational

70 J|&9 mF&E3t Yoi EXTENSION



Lifeline infrastructures are vital systems that
support a nation’s economy and quality of life.
Modern economies rely on the ability to move
goods, people, and information safely and reliably.
Adding to their importance is that many of the
lifeline systems serve vital roles in disaster recovery.
Consequently, it is of the utmost importance to
government, business, and the public at large that
the flow of services provided by a nation’s
infrastructure continues unimpeded in the face of a
broad range of natural and technological hazards.
The linkage between systems and services is critical
to any discussion of infrastructure. Although it is
the performance of the hardware (i.e., the highways,
pipes, and transmission lines) that is of immediate
concern following an earthquake, it is actually the
loss of services that these systems provide that is
the real loss to the public. Therefore, a high priority
in protecting these systems from hazards is ensuring

(D an early alarm system for economic crises

@ the durability and stability of transmission lines

@ the continuity, or at least the rapid restoration, of
service

@ a prompt mobilization of experts for disaster control

(® the maintenance and expansion of lifeline systems

20| 5202 HOL, O 2X0| SO7p7(0| 71Y HA
st

Most readers of reports and papers are reading the
documents because they are interested in, and know

something about, the subject.

What is the best order for a report, paper or other
technical document? Of course, it must be logical;
but that means simply that the paper must have
connection and sequence, and a variety of orders is
possible wunder this heading. Too many writers
interpret the term logical to mean chronological, and
it has become habitual to begin reports and papers
with careful reviews of previous work. ( (O ) Usually,
this is tactically weak. ( @ ) Therefore, to rehearse
to them the findings of previous work is simply to
bore them with unnecessary reminders. ( ® ) The
interesting thing for them is the new information —
the new findings and conclusions. ( @ ) So it is
usually best to start with those pieces of information.
( ® ) To give a long chronological account of work
or procedures is normally appropriate only when the
essential point of the paper is the chronological

sequence.

* chronological: SICHZ&9]
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Behavioral evidence for separate types of taste
receptors comes from studies of the following type:
Soak your tongue for 15 seconds in a sour solution,
such as unsweetened lemon juice. Then try tasting
some other sour solution, such as dilute vinegar.
You will find that the second solution tastes less
sour than usual. Depending on the concentrations of
the lemon juice and vinegar, the second solution
may not taste sour at all. This phenomenon, called
adaptation, reflects the fatigue of receptors sensitive
to sour tastes. Now try tasting something salty,
sweet, or bitter. These substances taste about the
same as usual. In short, you experience little
cross-adaptation — reduced response to one taste
after exposure to another. Evidently, the sour
receptors are different from the other taste
receptors. Similarly, you can show that salt
receptors are different from the others and so forth.

L 2

The fact that the intensity of a taste is (A)
after trying the same taste, but not after trying a
different taste, serves as evidence for the existence

of  (B)  receptors for different tastes.
(A) (B)
(@ increased ----- adaptive
@ increased ------ identical
(® measured - sensitive
@ decreased -+ distinct
® decreased - collective

72 7189 mEEat Jo| EXTENSION




07 22811= 62 ot 224 o s
the 3o X2 T HEE AL

Contractors that will construct a project may place more weight on the planning process. Proper
planning forces detailed thinking about the project. It allows the project manager (or team) to
“build the project in his or her head.” The project manager (or team) can consider different
methodologies thereby deciding what works best or what does not work at all. This detailed
thinking may be the only way to discover restrictions or risks that were not addressed in the
estimating process. It would be far better to discover in the planning phase that a particular
technology or material will not work than in the execution process. The goal of the planning
process for the contractor is to produce a workable scheme that uses the resources efficiently
within the allowable time and given budget. A well-developed plan does not guarantee that the
executing process will proceed flawlessly or that the project will even succeed in meeting its

objectives. It does, however, greatly improve its chances.

* execute: ASHSICH
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| . Contractors (that will construct / a project) may place / more weight / on the planning process.
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* contract (H2fSICh) + -or (~oh= AME) = contractor - A2}
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[I. Proper planning / forces / detailed thinking about the project.
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I It / allows / the prOJect manager (or team) / to “build the project (in his or her head).”

B3 allow A to-V'E ‘A7t VEte 12 S{EfSICPE ofn|EtLCt.
%2 (= HEF AEe) DRHE AW (52 HO) A9 HAK0M 1 ZIHES
L.
SIAL

AgsteE sttt

V. The pl‘OjeLt manager (or team) / can cons1der / different methodolog,les thereby dec1dmg / what /

SIAPE

w01ks best or what / does not work (at all).

B 1 Z2NE ZYxE (32 ©2) UE YYES
Of 20| T8 SHX PEXE ZHY 4 A0 B
B cthereby’ 7t HAIEIOL B4 23
- YA TRHES A0 TYS YHS TR HMO| WHS ZW 4 U0D BUL
* methodology - HfH=Z
S [¢ \% 0-1 0-2 2
V. This detailed thinking / may be / the only way (to discover / restrictions or risks (that
\%
were not addressed in the estimating process))
B 2215 MME MZe (= T2 wHe 12510 of 20| HSET oM 20| HELX| o= XS
A¥ots A2) =8 HHOM TRUXIX] 42 Moo|U HY¥SS Edck=s R Y02t Lt
B ve ST0IM RAIE Crst WHe M2istozl Qe 0152 MAlSHE USLICH
71301 Ziz0] 2y
VI. It / would be / far better / to discover (in the planning phase) (that a particular technology or material
v
/ will not work / than in the execution process)
* execute: ASHSICH
B3 1t + be SA + HEBAF + t0-VE IIROVTFOYLICE
- A PYHECHE AE HANM S JIE0IL =Tt ASoHA| Y2 AS Edckhs A0l EM O
WCHD BHLCH
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VI. The goal of the planmng process (for the contractor) / 1s / to produce / a workable scheme (that /
\% (&)
uses / the resources efficiently (within the allowable time and given budget))
L A=
- 1O

RHA A=l 29l SHE SI8%= AlZHa RO Ot QoM KRS REHOZ AKE0t

BT

ot &S 2tE= A0l2
workable - &}

* work (BS35IC}) + -able (7ts¢9) =
**  allow (S]=SIC}) + -able (7}S8H) = allowable - &

**%  budget - O|&t
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VIl. A well- developed plan / does not guarantee / that the executlng process / will proceed flawlessly or

=2 V-ing v

that / the prOJect / will even succeed (in meeting its objectives). It / does, however, greatly improve

(0]
/ its chances.
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Official definitions of sport have important implications. When a definition emphasizes rules,
competition, and high performance, many people will be excluded from participation or avoid
other physical activities that are defined as “second class.” For example, when a 12-year-old is
cut from an exclusive club soccer team, she may not want to play in the local league because

she sees it as “recreational activity” rather than a real sport. This can create a situation in which

most people are physically inactive at the same time that a small number of people perform at
relatively high levels for large numbers of fans—a situation that negatively impacts health and
increases health-care costs in a society or community. When sport is defined to include a wide
range of physical activities that are played for pleasure and integrated into local expressions of

social life, physical activity rates will be high and overall health benefits are likely.

ARXO| FOTt OfEA ELfo M2t SSHQ AZd &0 s = U8 AS gA HoMM TH
MXQI @H ARXO| Fol= M| 2E EHOQ AZ0 S DELLE 1= M0F LY.
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XIS SIRIZ HOAIT 7K L3t XIS D2Al ZFO| ALK 0] 0[R2 TEHCIT ML
XI2S 7K AMOF BHLICE.
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OFES OI&GHMAl @S T2HCIT MZBHLICL 0] BE22 0| M| A4 Lios 220\ HEs|

S \Y o
| . Official definitions of sport / have / important implications.

B3 Amxo| ZAMQI Mol £Q35t st&Sg JIRICIT S

FAE 0 s
[I. When a deﬂmtlon / empha51zes / rules, competition, and high performance, many people / will
A V-2 o 2

be excluded from participation or (be?l avoidE &) avoid / other physical activities (that

\ A

are defined as “second class.”)

B3 mopt 7=, Z#Y, 121 52 st I, B2 ARISS AJIZSE HQLD “second
class”2 HOIE CI2 AXMOl #SS mlatH ECtn gLct

B} For cxample’ OA| O 20|22 O|5H5HOFHE FA 2RLLIC

* be excluded from A - AZEH X|Q|%/Ct
** be defined as A - AR HO|Z|C}
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[II. For example, when / a 12-year-old / is cut from / an exclusive club soccer team, / she / may

v (6] S v A B
not want / to play / in the local league / because / she / sees / it / as “recreational activity” rather

than a real sport.

EF o= Soi, 1202 ofo|7t A9 ZREOA E2|A ECHH JH7F XF¥2|0E MM ARXHCH=
“HZ2 001N ESC= ZtFg 017 HEo| X[ 2|10M FHe WS 2otA| 4= A0[2t1 gfLct

) oACiRiE B & HY (= Y2EHI AZGHH 0|a5HMOF FHLCH
- I 280 HASE™M ‘be excluded from participation’2 Il 29| “is cut from an exclusive
club soccer team’d} CHEO| T[T [ ZXO| ‘other physical activities’= [IItH ZZ9| local

league’?t |1 282 “second class”= IllItH F&2Q| “recreational activity”2t S0| ELICH.

* see A as B - ASE BE ISt (= regard A as B = view A as B)

S \ o TR 2 s v c
V. This / can create / a situation / (in which / most people / are / physically inactive / at the same
o S %
time) (that a small number of people / perform / at relatively high levels for large numbers of fans)
o V-1 o V-2 o

—a situation (that negatively / impacts / health / and / increases / health-care costs / in a society or

community).

B —= o= TH™oZ Fss| FLCH
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- A2 279 AES0| B2 WSS ?ohM JHHCE 52 +E222 s¥ok= At SAM HEES
AMESE0| MMHCR HESHO &8, & BN AZ0 FS TIXIH Al2let SSH|Q| HEEz

=
HIES S/t7I= &&= 0P|E =+ ULt gL

B ‘This7t Op|SHE Zapt MAIELCH S4 25

B V-

S v 1
V. When / sport / is defined / to include / a wide range of physical activities (that are played for

pleasure and (played®} integrated HZ intcg;atcd into / local expressions of social life), / physical
phy

S v C S v C
activity rates / will be / high and overall health benefits / are / likely.
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SHXIZH FOf XIZ0M= ot 22 FAXC Xl =2 BAE EX U222 A = BY
not A = not B7t SYSIIL HAl= 20| Olatist=H| 25|13 § Hotd YUtk &, A = B2 B =
o

A QA7 FHHHALEE CHE 2J0j0|H A = not BE AMMEAZI Ct28=2 S 20|YL|Ct
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Scientists use paradigms rather than believing them. The use of a paradigm in research typically
addresses related problems by employing shared concepts, symbolic expressions, experimental and
mathematical tools and procedures, and even some of the same theoretical statements. Scientists
need only understand how to use these various elements in ways that others would accept. These
elements of shared practice thus need not presuppose any comparable unity in scientists’ beliefs

about what they are doing when they use them. Indeed, one role of a paradigm is to enable

scientists to work successfully without having to provide a detailed account of what they are
doing or what they believe about it. Thomas Kuhn noted that scientists “can agree in their
identification of a paradigm without agreeing on, or even attempting to produce, a full
interpretation or rationalization of it. Lack of a standard interpretation or of an agreed reduction

to rules will not prevent a paradigm from guiding research.”
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Scientists / use / paradigms (rather than believing / them).
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. The use of a paradigm (in research) / typically addresses / related problems (by employing /
shared c;oncepts, / symbolic éxpressions, / experimental and mathemaitical tools and procedures, / and

0-4
even some of the same theoretical statements).
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. Sc1entlsts / need only undelstand / how to use / these various elements (in ways) (that others /

would accept).
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IV. These elements of shared practice / thus need not presuppose / any comparable unity (in scientists’
DA s JopvE

beliefs) (about what they / are domg) / when thcy / usc / thcm
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* pre- (OI2]) + suppose (7FgatLf) = O|2| 7Hd

C to-V.
V. Indeed, one role of a paradigm / is / to enable / sc1entlsts / to work successfully (without having

AL s AR N

to provide / a detailed account of (what they / are domg or what they / belleve about it)).

B3 ccnable + A + to-V'E A7} V& 4 QICPE Q|O|EHLC}

=
- AHY, I{CHYel g & otits ASfAS0| d3XH2Z O30| (= Ietit=0]) FAE A 130
FoS 21 U= Ko it dMet @S MSoHore 0] LY 4 UCHD FLICE.

B} ‘Indeed’7t MAIEIRODE FA 2FALC
- OIS ARBSHE 0| CH2 WSIRtSM ZRE0N 7| R0l TSIRHS0| PHE Mol

4THOB Y 4 UCIT FLLL

12 7|129| mEEdt_F0o{ EXTENSION



VI

2

Thomas Kuhn / noted / that / smentlsts / “can agree (in their identification of a paradigm) (without

O N
agreeing on, or even attempting to produce), / a full interpretation or rationalization (of it). Lack (of

\% o
a standard interpretation or of an agreed reduction to rules) / will not prevent / a paradigm / from

V-ing
guidisng research.”
B3 prevent + O + from V-ing’= ‘O7} Vét= 7S QiCbE o|o|Eh|Ct.
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Difficulties arise when we do not think of people and machines as collaborative systems, but
assign whatever tasks can be automated to the machines and leave the rest to people. This ends
up requiring people to behave in machine-like fashion, in ways that differ from human
capabilities. We expect people to monitor machines, which means keeping alert for long periods,
something we are bad at. We require people to do repeated operations with the extreme precision
and accuracy required by machines, again something we are not good at. When we divide up the
machine and human components of a task in this way, we fail to take advantage of human
strengths and capabilities but instead rely upon areas where we are genetically, biologically

unsuited. Yet, when people fail, they are blamed.

e [HH :®1
T20] O{EX| LUXT FHEO| H2 EXMYLICL M2 O HE HX|TH MX|0|A HO| ST ZLYULC
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LB S20| AdFMe=E MRI=E £ U= WEO07| HEYULICL J3uE =6t 0] MX[7} &
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2 YRS HIE WE MAIMS & AIHE LISH| oM QI7tel fNE F5oiH= WE0| OFgLICt
J82 Q& MX|!
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* allocate A to B - AZS BO| EH5ICt. 2SA|CH
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Difficulties / arise / (when we / do not think / of people and machines / as collaborative systems,

B A

B V
but assign (whatever tasks can be automated) to the machines / and (assigni} leave HZ) leave /

C

the rest to people).
E3 ot A but B - A7} OtL|2t BO|CH
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/ human capabilities).
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. This / ends up requiring / people / to behave (in machine-like fashion), (in ways that / differ from
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We / expect / people / to monitor machines, (which / means / keeping alert for long periods),

S N C
something (we / are / bad at).
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accuracy= HZ4) / accuracy) (required / by machines, again something (we are not good at).
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V. When we / divide up / the machine / and human components (of a task) (in this way), / we / fail

e S

o \4 ) S
/ to take advantage (of human strengths and capabilitics) but instead / rely upon / areas (where we

/ are genetically, biologically unsuited).

VI. Yet,
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when people / fail, / they / are blamed.
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Mending and restoring objects often require even more creativity than original production. The
preindustrial blacksmith made things to order for people in his immediate community; customizing
the product, modifying or transforming it according to the user, was routine. Customers would
bring things back if something went wrong; repair was thus an extension of fabrication. With
industrialization and eventually with mass production, making things became the province of
machine tenders with limited knowledge. But repair continued to require a larger grasp of design
and materials, an understanding of the whole and a comprehension of the designer’s intentions.
“Manufacturers all work by machinery or by vast subdivision of labour and not, so to speak, by
hand,” an 1896 Manual of Mending and Repairing explained. “But all repairing must be done
by hand. We can make every detail of a watch or of a gun by machinery, but the machine cannot

12

mend it when broken, much less a clock or a pistol!
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Mending and restoring objects / often require / (even more) creativity / than original production.

E) 272 X1 BYsHE W2 33 £7|9 MNECE O %2 HoMS 27D Bt

* mend - X|Ct

N v o
. The preindustrial blacksmith / made / things (to order for people) / (in his immediate community);

N N C
customizing the product, (modifying or transforming / it / according to the user), / was / routine.

) Mgis Mo HIFOISS 19 X MI0M FRE WSS MTESS s USUW, MBS
F2ots A, & AMEA| Ot MES +Fotil HYsks A0 LSO0IAUHT L

* pre- (0ll) + industrial (ARC]) = AAS} FO|

** blacksmith - CHEZO|

A% o S A% C S A%

ll. Customers / would bring / things back / if / something / went / wrong; repair / was thus /

.
an extension of fabrication.
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22l HEGHE
* bring (7P4RL}) + back (FI12 H#5H= 0|0|X|) = bring back - CrA| 7P L.
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V. (With industrialization and eventually with mass production), making things / became /

C
the province of machine tenders (with limited knowledge).
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V. But repalr / contmued to require / a larger grasp of design and materials, an understanding (of the

0-3
whole) and a comprehension (of the designer’s intentions).
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VI. “Manufacturers all / work (by machinery or by vast subdivision of labour and not, (so to speak), by
hand),” an 1896 Manual of Mcnding and Repairing / explained.
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VI. “But all repairing / must be done / by hand. We / can make / every detail (of a watch or of a

o HARE

gun by machinery), but the machmc / cannot mcnd /it / when broken, (much less a clock or a

pistol)!”
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People don’t usually think of touch as a temporal phenomenon, but it is every bit as time-based
as it is spatial. You can carry out an experiment to see for yourself. Ask a friend to cup his hand,
palm face up, and close his eyes. Place a small ordinary object in his palm — a ring, an eraser,
anything will do — and ask him to identify it without moving any part of his hand. He won’t
have a clue other than weight and maybe overall size. Then tell him to keep his eyes closed and
move his fingers over the object. He’ll most likely identify it at once. By allowing the fingers
to move, you’ve added time to the sensory perception of touch. There’s a direct analogy between
the fovea at the center of your retina and your fingertips, both of which have high acuity. Your
ability to make complex use of touch, such as buttoning your shirt or unlocking your front door

in the dark, depends on continuous time-varying patterns of touch sensation.

* analogy: QAL ** fovea: (YLQ|) SAUE) *** retina: Y
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| . People / don’t usually think of / touch / as a temporal phenomenon, but / it / is / every bit / as

A B
time-based / as it is spatial.
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[I. You can carry out / an experiment (to see for yourself).

B us 4 AA2 27|906M HEg S3sHOF SiCk St
B yaivt Lol ofg AREE Folst ojop FLCh

to-V (1) to-V (2) to-V

Il Ask / a fnend / to cup / his hand palm face up, and (cup, face, closeE HZ) close / his eyes.

B3 Ask A to-V - AOA Vot Zig Q6|
o £02 SM5HH OF ELICE ¢
(=] | A

- cup his handE Zu} 19| & M o-V XNZ2|0|22 cup0| V(SAhHZt = 0{0F
UL X2 cup2 VO 5 7HKAL AFULE 2= 82 HO/t 29{0F 2 A0| HFE Eel
cupt Z0| SAIZ F= MO|X| gi= SA= ¥ Y= 'S o2 oiMotAE S FFoH
T Aed HUbt = 19| &3 Holkt = 19| &= UXNE Zorp

- ZF0A 129 &5 AAME 2o1 EHIHO| 2 ol ot == ZOtEetl okt gL

* palm - &HE
IV. Place / a small ordinary object (in his palm) — (a ring, an eraser, anything will do) — and ask /

to-V

hnn / to identify it (without moving any part of his hand).

B3 ask A to-V - A0 VEt= S Q&SI
- 119 EHIEO| HEX|LE X[RHEE2
ot=E QAstety &L Ct.

V. Hc / wont have / a clue / other than / weight and maybe overall size.

B} 1= A9 MAMO I7|2 MQstTs OfMst ST JEK|T QUX| QCHD SHCH

L0 D.O V-1 0.C V-2

VI. Then terll him / to keep / hlS eyes / closed and move / his ﬁngers (over the object).

B} 13 J0H L2 e M2 27I2t2 S2X0j2tT Ystatn $HCh

N v [¢]
VI. He’ll (most likely) / identify / it (at once).

ED 1= ZA 320] SAQUIK| LOLRRRICIT BHLICE

V-ing to-V

Vil. By allowing / the ﬁngcrs / to move, / you ve addcd / tlmc (to the sensory perception of touch).

B3 by V-ing - ~&oZN
- allow A to-V - A7} Val= 742 5{2t5iCt
- &7120] 220l A2 SHeEM He 29 7z X120 AlZtES GUCt JLCh
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There’s a direct analogy (between the fovea (at the center of your retina) and your fingertips), both

v o
of which / have / high acuity.

* analogy: QAL ** fovea: (Y2Q|) ZAUNE) *** retina: Yt

B3 between A and B - At BALO|O|

- arokol MO e SALR o 27IEEL2 & B =2 KRS 7HX1 UCt= 0 EEXQl
SAFEO[ UCL L L.
* acute - ZASH O2ISH = HAFY acuity (ZZtQ]) O|2I& acuteness (ZZtQ) 0|21t L2

S v o
Your ability (to make / complex use of touch), (such as buttoning your shirt or unlocking your

v (6]
front door in the dark), / depends on / continuous time-varying patterns (of touch sensation).
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A strategic vision has little value to the organization unless it’s effectively communicated down
the line to lower-level managers and employees. It would be difficult for a vision statement to
provide direction to decision makers and energize employees toward achieving long-term strategic
intent unless they know of the vision and observe management’s commitment to that vision.
Communicating the vision to organization members nearly always means putting “where we are
going and why” in writing, distributing the statement organizationwide, and having executives
personally explain the vision and its justification to as many people as possible. Ideally, executives
should present their vision for the company in a manner that reaches out and grabs people’s
attention. An engaging and convincing strategic vision has enormous motivational value — for the

same reason that a stone mason is inspired by building a great cathedral for the ages.

* stone mason: A& ** cathedral: CHEY
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A strategic vision has / little value (to the organization) / unless it’s effectively communicated

(down the line) (to lower-level managers and employees).

B} 013 2X0| HAIE A2 2HE 222 XM 0[5H5l7] HYTLICL 0] 2HUA ‘litle’} ‘unless’S
2t} “ittle’S AMM[SIT ‘unless'S ‘i 2 HMYA SHASIA|H EL|LCY.
- A HIM2 0] UNOZ o159 (Kot ZASOA ATISHA HEEKX| H2H XX
7HXIE XUX| =St L

B 03 2™2 X2 & MMl HIM0| SUHH0|7| sHME SHEQ Z2IXQt ZYUSOHH AMSHA
MY 0{0F ST O|SHBIAIR =L|Ct.

. It would be difficult / for a vision statement / to provide direction (to decision makers) / and

energize employees (toward achieving long-term strategic intent) / unless they know / of the vision

and observe / management’s commitment to that vision.
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Communicating the vision (to organization members) nearly always means / putting (A) / “where we
are going and why” (in writing), distributing (B) / the statement organizationwide, / and having (C)
/ executives / personally explain / the vision and its justification (to as many people as possible).
E} ‘have + O + 0.C’E ‘07t O.C3I=E AI7|LPE OIRILICE
- ‘A, B, and C' HE FZ0 siFLIC.
- HIRE ZRO| THUSO HIYGH= H2 Ao SA <92l

r
X% MAO| DE2|D, ZHT0| HUMOR HIHT 2ROl HYNS
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B} ZITI0| XNYSOAH HINMS HMAIGHOF 5t LS ASOH HEC2{of SiCHe LHRO| XHRISELICE

. Ideally, executives should present / their vision (for the company) (in a manner) (that reaches out

and grabs / people’s attention).
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V. An engaging and convincing strategic vision / has enormous motivational value — (for the same

reason) that a stone mason is inspired by building / a great cathedral (for the ages).

L
e

* stone mason: A& ** cathedral: CHAY
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Unlike the novel, short story, or play, film is not handy to study; it cannot be effectively frozen
on the printed page. The novel and short story are relatively easy to study because they are
written to be read. The stage play is slightly more difficult to study because it is written to be
performed. But plays are printed, and because they rely heavily on the spoken word, imaginative
readers can create at least a pale imitation of the experience they might have watching a
performance on stage. This cannot be said of the screenplay, for a film depends greatly on visual

and other nonverbal elements that are not easily expressed in writing. The screenplay requires so

much filling in by our imagination that we caphot really approximate the experience of a film

by reading a screenplay, and reading a screghplay is worthwhile only if we have already seen

the film. Thus, most screenplays
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| . Unlike the novel, short story, or play, film / is not handy to study; it / cannot be / effectively /
frozen on the printed page.

) 44 om, s2 I Ch27, Yake AT6H|0 YUX| CtD SHLICH D2 QI4HE HOIX| o
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[I. The novel and short story / are relatively easy to study because they / are written to be read.
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lll. The stage play is slightly more difficult to study because it is written to be performed.
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IV. But plays / are printed, and because they / rely heavily on / the spoken word, imaginative readers /
can create / at least a pale imitation (of the experience they might have watching a performance on

stage).
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V. This / cannot be said of the screenplay, for a film / depends greatly on / visual and other
nonverbal elements that are not easily expressed in writing).
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* non(BA) + verbal(1M{2]) = nonverbal - H|SHO{ZQI
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VI. The screenplay / requires so much filling in (by our imagination) that we cannot really approximate
the experience of a film by reading a screenplay, and reading a screenplay / is worthwhile only if
we have already seen the film.

E3 by V-ing's VEOZM'E oD|EHLCt.
- ot =2 229 S0 2o MAX= AS HUFU B0l E22 57| 20, f2= ot =S
HSOZM Foto| el M2 70| Z & GloH, Fet tE2S e A2 HAl 2271 1 FotE
0|0 EAS ZRUZ 7Hx7F ATt SL T

B vH 20 00jR= 2XQILICE Yt HIQIO™ QA0 IH EsEZ, AOE QA0 Hat
2SS =Lty 1 YstE ZESCID 8 4 QiSLCh = ¥st (RS o= Ziotoz 1 932
ojotsty|= OfPCts Y2 5t YLCh

* approximate - ™ZA|7|C}, H|XSICH

VIl. Thus, most screenplays
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Lifeline infrastructures are vital systems that support a nation’s economy and quality of life.
Modern economies rely on the ability to move goods, people, and information safely and reliably.
Adding to their importance is that many of the lifeline systems serve vital roles in disaster
recovery. Consequently, it is of the utmost importance to government, business, and the public

at large that the flow of services provided by a nation’s infrastructure continues unimpeded in

the face of a broa¢ range of natural and technological hazards. The linkage between systems and
services is critical to any discussion of infrastructure. Although it is the performance of the

hardware (i.e., the highways, pipes, and transmission lines) that is of immediate concern following

an earthquakg, it is actually the loss of services that these systems provide that is the real loss

to the public. Therefore, a high priority in protecting these systems from hazards is ensuring
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LHSQILICE 0|9t Z2 LHE29 H7|= (® the continuity, or at least the rapid restoration, of service,
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. Lifeline infrastructures / are / vital systems (that support a nation’s economy and quality of life).

D MmAM 78S 5t 210 AKIQ A9 ES QXS R S35 A|AHIO2tT FHLICH

* infra (7|8t @IZ2}) + structure (LX) = infrastructure - 7|5F A&

. Modern economies / rely on / the ability (to move goods, people, and information safely and

reliably).
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VI.

Adding to their importance / is that many of the lifeline systems / serve / vital roles (in disaster

recovery).
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. Consequently, it / is / of the utmost importance (to government, business, and the public) (at large)

that the flow of services (provided by a nation’s infrastructure) continues / unimpeded (in the face
of a broad range of natural and technological hazards).
EF it + beBAL + HEA (of NE MYTR HEBAR 2 4 UBULH + tha' 7HF0IRF
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. The linkage (between systems and services) / is / critical to any discussion of infrastructure.
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Although it is the performance of the hardware (i.e., the highways, pipes, and transmission lines) /
that is of immediate concern following an earthquake, / it is actually the loss of services (that these

systems provide) / that is the real loss to the public.
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VIl. Therefore, a high priority (in protecting these systems from hazards) / is / ensuring
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Most readers of reports and papers are reading the documents because they are interested in, and

know something about, the subject.

What is the best order for a report, paper or other technical document? Of course, it must be
logical; but that means simply that the paper must have connection and sequence, and a variety of
orders is possible under this heading. Too many writers interpret the term logical to mean
chronological, and it has become habitual to begin reports and papers with careful reviews of
previous work. ( @ ) Usually, this is tactically weak. ( @ ) Therefore, to rehearse to them the
findings of previous work is simply to bore them with unnecessary reminders. ( @ ) The
interesting thing for them is the new information — the new findings and conclusions. ( @ ) So it
is usually best to start with those pieces of information. ( ® ) To give a long chronological
account of work or procedures is normally appropriate only when the essential point of the paper is

the chronological sequence.

* chronological: HL{&2]
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V.

. Most readers of reports and papers / are reading / the documents because they are interested in, and

know / something about, the subject.
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. What is / the best order for a report, paper or other technical document?
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. Of course, it must be logical; but that means simply / that the paper must have connection and

sequence, / and a variety of orders is possible / under this heading.
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Too many writers interpret / the term logical / to mean chronological, / and it has become habitual /

to begin reports and papers (with careful reviews of previous work).

* chronological: {29
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Usually, this is tactically / weak.
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V. Therefore, to rehearse (to them) / the findings of previous work / is simply / to bore them (with

unnecessary reminders).
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VI. The interesting thing (for them) is / the new information — the new findings and conclusions.
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VI. So it / is usually best / to start with those pieces of information.
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VIl. To give / a long chronological account of work or procedures / is normally appropriate only / when the

essential point of the paper is / the chronological sequence.
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The fact that the intensity of a taste is (A) after trying the same taste, but not after trying
a different taste, serves as evidence for the existgﬁceo\f (B) receptors for different tastes.

7

Behavioral evidence for separate types of taste receptoy$§ comes from studies of following type: Soak

your tongue for 15 seconds in a sour solution, such As unsweetened lemon juice. Then
other sour solution, such as dilute vinegar. You

tasting some
11l find that the second solution tastes less sour than

usual. Depending on the concentrations of the lgmon juice and vinegar, the second solution may not taste

sour at all. This phenomenon, called adaptatidn, reflects the fatigue of receptors sensitive to sour tastes.
Now try tasting something salty, sweet, or pitter. These substances taste about the same as usual. In short,
you experience little cross-adaptation reduced response to one taste after exposure to another.
Evidently, the sour receptors are different from the other taste receptors. Similarly, you can show that

salt receptors are different from the others and so forth.
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| . Behavioral evidence (for separate types of taste receptors) / comes / from s

type:

tudies of the following
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[I. Soak your tongue for 15 seconds in a sour solution, such as unsweetened lemon juice.
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[II. Then try tasting some other sour solution, such as dilute vinegar.
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V. Depending on / the concentrations of the lemon juice and vinegar, / the second solution / may not

taste / sour at all.
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VI. This phenomenon, (called adaptation), reflects / the fatigue of receptors sensitive to sour tastes.

B} =20jatn 22= 0| A2 Ao DIZISH 7|&o| D22 HrESICID B

B =go2tn
NS YotH, 1 O|f= 7|0
*  fatigue - L|Z

** receptor - 2K

[
]

ol

VI. Now try tasting something salty, sweet, or bitter.
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VIl. These substances / taste / about the same as usual.
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[X. In_short, you experience little cross-adaptation — reduced response (to one taste) after exposure (to

another).
B} 2osiAHH, OfF oto EE CHZ0| CHE ot hEt Z0E £S89l WXt X322 Mol HYSHK|
ST BT
€3 Aoto] ofd CH2 otg ohE miols VY 29| MS FAe L2 4 Qifte =uCt
X. Evidently, the sour receptors are different from / the other taste receptors.
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XI. Similarly, you can show / that salt receptors are different from / the others and so forth.
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